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Period: 'J] Momentum In Class Review

A. pPua=piatpza 1,{ 1.DA car speeds up. 7.  Which has more momentum?

— . A, fast baseball' or a slow baseball?
B. pg-1=0 (ﬂ 2.[=A person running catches a football, B owling ballog a baseball with the
C. O=pia+pa 6‘ 3.1=Two moving cars hit and bounce off. same spee
D. ps+l=p I 4.7} A moving airplane drops a bomb. C. A ball or a house?

. petl=pa .
5._A rocket at rest turns on its engine: hot | 8. Give two ways momentum can change.

E. pe+pm=piatpn 5 gases go back; the rocket goes forward. - F‘

Ba oo : t o MAY
F. pia+ps=piaa ‘9\ 6. DA moving car uses its brakes to stop.

9. Does a large force always cause a large impulse? Explain. | 10. 15 N acts for 8 seconds. How much momentum was
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PUSHS O 20T Time = 1’5(3)

ﬁ > 8N _ﬁ 16, Elastic, Inelastic, or Perfzctly Inelastic

/ dkg — 4k 7 (C(;J:ld be _rl-lorc than one)?

Phoefore = Pofer= A, &zp‘tﬁlﬂ: = zplﬂﬂ" ZEkhthlE #* ZElmﬁﬂ‘
e see S B. szbefm = EPufers ZExbefore = ZEkafier

C. _PI‘ EDpefore = EDafters AN Mgy = My
D € There is little or no sound.

11, How much momentum was gained above?

. — rfs g
\BQD |3 2 kq E. L, T There is a lot of noise.
12. How big is the impulse acting on the object? F. T; 3 The objects are mangled, or crushed.
WIgllhﬁfﬂ;phAP:l ‘-?Kq-':'ﬁﬁl"b ] g
13. Calculate the time the Torce acted.
Tt L=2 3 6kg [—> |4kg >
R4=8¢
14. Calculate the acceleration of the object. 17. Two objects collide as shown above.
F = O A, What happens o the momentum of the 4 kg object?
4 az oD TAlrdase=>
6 = 4CL B. What happens to the momentum of the 6 kg object?
15, What is the final velocity of the object? b PCren DES

P =My C. What happens to the total momentum of the system?

o= H (V) \/g; QD Qonstan+ (Stays <ome)

Cart 1 Cart2
6 m/s 6 m/s 0.1 sec

——— 0 m/s 0.5 sec ST
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18. Two identical carts moving 6 m/s stop. The Cart 1 hits a spring. The Cart 2 just hits a wall.
A. Calculate the initial momentum of the carts. q m ’ "ﬁb

B. Calculate the change of momentum of the carts.
—Q D

C. Which cart experienced the bigger change of momentum?” = ¢ " ¢&

D. Which cart felt the bigger impulse? < me. E. Which cart [elt the bigger force? CO_ CT S

F. Calculate the force on each cart.

J=Ap =FEt ::'q/,s ~F=F (1)
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